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1 Two 'Frmemlic homogeneous bars AB and
BC of length £ and 2, respectively,
Ore m{ﬁidly Joined at B at h‘glnf anglevs
to each other, 0s showon in F‘g.‘i. In
the suspended Pos:’ﬁon shown, AB mades
an ongle ok with the vertical string
oA. I{ the resultant o-l: the weigk’r

O{: the erS is a|ong OA) Je‘llermine
L. (15%) .

2. A bar AB o-F lenéﬂl 0 and we-'gh'f
W rests on the wpper, smooth
corner of a verhcal wall
at O, oand s end A is
stopped l>7 a parallel, smooth
wall (E‘a. 2.). Given that
AD < X[z , defermine the anj|e
oL and reactions at O and A.

(15 %)

3. Two blocks A and B, connected Ly
A link o{ negl.‘j:Lle mass, Ore
Shc\n‘r\% Jown an. inclned P,ane,
Qs shown in ﬁa. 3. The Slicln'mé_
-Fric{ion between A and the Plane
15 0.20 and belween B and 4he plane
is 0.30. Find the fension in the
connec‘cing lin&, (20 %) ‘ |
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4-' De1lerm[ne the —fo'rces in

the members AB and BE
of -the truss  shown

in F&a. 4. (15%)

De{ermine the aero—)(orce members
of the Lruss foaded as shown
in Fg. 5. (20 %)

B N M T
Fia.S
é. .
BC is riaiA wl'\ile'\ AR is _]?,exIUe.
ET Rigid o
é/\ J/ B ,2/ ¢ Dejfevm}ne the cle_[lecjuon G
/ 1p pont C, (15%)
,[< L * L )
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